Bergen County Mathematics Ledague

Problem Author: Problem Editor:
Steve Conrad ' Dan Flegler
www.mathleague.com www.mathleague.com
Brief Contest Solutions #6 2013-2014

6.1 — AtC >BD Gl

At+B = CHD - : :
'.—‘—_—-‘—:—_- — cC>» 6\ A//’/-_—\‘ )
s ) = N =

Atfrd > Bifro = A»D) «__,/
GAM‘DM.‘nﬁ,EAOD >Q>5 '

6-2. 15361‘*: lm b _ 209 58 - [o, &= |

N\

6-3 Xy = At Ry = = 5> — re \
/\]'U”: 9 s b ad y)=|C4), (3¢)
. X = y .

6. (¥ (A-G)= 3 = &= (1+G
( So X= @‘}-fg)L: l (O+'L\r2\()

65 AR B= St %:9 C%,S):,

Sste: &= A1)

(oS AX = sy - St S Slv\l)(~(,os"x = —S 2x , or
o6 C spax =tosx) (Stax + tosx) = —(0s2X

- %2
Sny~csx) = — (@7 <X
am’ ( . _¢> =7
Mo, CSinxs o5x)" = =7

So GnE X+ Costyt LSi-y (OSX = [+ Stmry

n
<M
L
»
h
<

i . g- 4 @ EY .

©2014 by Steven R. Conrad, www.mathleague.com


Steve
Text Box


